Division par Puissances de Dix (F)

Trouvez chaque quotient.

53+1000 = 5+10=
35+100= 87 ~+10 =
77 +-10 = 98 - 10 =
90 - 10 = 61+~ 10 =
63 +10 = 17 +-1000 =
61+1000= 22 +-100 =
91 +-1000= 46 +- 100 =
86 - 10 = 49 +-1000 =
68 - 10 = 81 +100 =
81+ 100 = 67 +-100 =
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Division par Puissances de Dix (F) Solutions

Trouvez chaque quotient.

53-+1000=0,053 5+10=0,5
35+100=0,35 87 +10=8,7

77 +10=7,7 98+10=9,8
90+-10=9 61+10=06,1

63 +10=16,3 17+1000=0,017
61+ 1000=0,061 22 +100=0,22
91-+1000=0,091 46 - 100=10,46
86 +10=28,6 49 -1 000 = 0,049
68 +~-10=16,8 81+100=0,81
81+ 100=0,81 67 - 100 = 0,67
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